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RS 0 0.00 0 0.00
EE 0 0.00 0 0.00
HC T AFE 2t5] AH(AIEFQI X 0 0.00 0 0.00
TENER RN 0 0.00 0 0.00
B 0 0.00 0 0.00
HHESBMF(F4)C3 JIEHHIE # 0 0.02 0 0.03
IO, S a2 0 0.03 0 0.03
OH Of IASHOS =
=) AUl A Ao 0 0.08 0 0.06
a2 =
sl 0 0.10 0 0.09
=2 f Ml 0 0.15 0 0.15
REES 0 0.16 0 0.16
EHON S AF 0 0.25 0 0.25
B E R AFE 2t5| AF(A EFQI ) 0 0.01 0 0.01
QU BIALR 2H2] 3] A 0 0.02 0 0.01
EEEE 1 0.44 1 0.43
HHESMF(F4)C5 EEERR 0 0.02 0 0.03
o DO, EHEAE 0 0.03 0 0.03
p TARAHR =
A:SAJHE AUl St 0 0.07 0 0.06
T | 0 0.10 0 0.09
=2} Al 0 0.15 0 0.15
* HEO| &=XAFSM(D|2FEE) (hH| BISS LIEFHLICEH
«x J|EFHI 0|2t B HZAHIE, 52 SO 0& L ZHHIE S HEWA ZAXN - BENO2 NEE HEO2A MH-SH242= X
Q| 5H2A QI LI},
M AL e el
LSO Y oS
P> EE4, HIEHIS (St HBHAF %)
22 [ 283 0IEHEA) ] HWH-EHM222HI=2(8) 7 5 I (A+B)
1Bl 0.0819 0.2792 0.3611
3 c=2 ESUNNEEX=]
ABESMF(ES(ES) =Pl 0.0887 0.3204 0.4091
=] 1.3282 0.2795 1.6077
= XAl
7181 = EMF(F2)AT EPl 1.335 0.3208 1.6558
=] 1.0702 0.2929 1.3651
= Al
HHEBMF(F2)Ae S| 1.0797 0.3334 1.4131
— ISBl 0.0821 0.288 0.3701
3 c= Al
HHEBMA(FA)C3 =Pl 0.0897 0.3311 0.4208
— ISBl 1.8287 0.2822 21109
= c= Al
2181 = BMF(F4)C5 EPl 1.8357 0.3253 2161
=1) £24 U 24| 2(Total Expense Ratio)0l2 SEE4 S HO A 2E6ts '24'9 JIEHIE SUS XA HE (244
2 UM IE)CZ L= HISEA Y @2II12H £ EXNXII BUst £ B4 HIELES LIEHLICH
Z=2) HOH-EM242 HIS0I2 - SHEL22 &N HETM(B2HE IAE JF)O2 Ls HIEZAH Y 22125 €
KHREDF et DHON-SoH4229 £ZS LIEFLICH
6. EXLAHAHDH OH LH &
> OHOH=AAE & S| AE (Ehel: siokel, %)
B T MEEERE
B = OH I = oH NEPIE o1 Bt AF
15,087 919 52,332 2,796 63.45 254.50
=) HOHEI XSO0/t S 28|12 S NES FAIDIMHO ZEHS 1 oY 22|12t S 288 A9 BRIIMO2 L= HISYLICH
HOHBIHE0| =SB MUK AHHE22(0.1% LHQI) L SAHAM (NS Al 0.3%) LAHOZ AN EXAIL L6 Sl HEH 0
=O}&LIC
b X2 32J| =4 OH0HEEE 0| (21 %)

2020-03-18 ~ 2020-06-17
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